H & 0l & AHS B Ml A

SH 2
M T2EHIAY &=
=2l AEIHE & ESEH (EEEE))
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
C2u 41,068,291 24,918,922 16,149,369
= 2,170,000 1,255,000 915,000
< 2,742,100 2,072,600 669,500
Al 36,156,191 21,591,322 14,564,869
SZHUIMG EF 21,988,582 15,155,882 6,832,700
= 2,170,000 1,255,000 915,000
[ 1,542,100 872,600 669,500
Al 18,276,482 13,028,282 5,248,200
ANZIHE & =t d 8,512,900 5,013,400 3,499,500
= 2,170,000 1,255,000 915,000
< 1,090,100 632,600 457,500
Al 5,252,800 3,125,800 2,127,000
ANE WSSEA 4,500 0 4,500
101 Q124H| 4,500 0 4,500
M IR HZZ2REES 4,500 0 4,500
NE DSEZA 62,5002 x72H 1 4,500 0 4,500
NE9S(HEICaietE2) & - Z& 1,000,000 500,000 500,000
401 AIEBIZL 20HY 1,000,000 500,000 500,000
01 Al&HI 1,000,000 500,000 500,000
NEOS (CHA IC-aHO = 2) & - LA (A=) 1,000,000 500,000 500,000
LHE XHATHOHRIE N X A A 4,340,000 2,510,000 1,830,000
= 2,170,000 1,255,000 915,000
< 1,085,000 627,500 457,500
Al 1,085,000 627,500 457,500
401 AIEHIZL 20HY 4,340,000 2,510,000 1,830,000
= 2,170,000 1,255,000 915,000
= 1,085,000 627,500 457,500
Al 1,085,000 627,500 457,500
01 AlI&HI 3,831,000 2,001,000 1,830,000
LHE KHATHSHRIE RS X7 EUlAHY 3,831,000 2,001,000 1,830,000
= 1,915,500 1,000,500 915,000
= 957,750 500,250 457,500
Al 957,750 500,250 457,500
NE21S(HEEY) &2 SEE 100,000 0 100,000
401 AIEBIL20HY 100,000 0 100,000
01 Al&HI 100,000 0 100,000
ANE21S(HEx ) &2 SEZEIA 100,000 0 100,000
SHMEE S22 ASAIHI 63,300 43,300 15,000
308 RIXIEME0IH 55,000 40,000 15,000
11 S 2SO Z A AE AL 55,000 40,000 15,000
SHMMEE S22 ASAAHI(FY) 55,000 40,000 15,000
NE3S(2s2l) JdEMESA 50,000 0 50,000




2A: &2

M T HHIMY &F
|

=2l AEIHE & ESEH (EEEE))
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HunsZ
401 AIEBIZL 20HY 50,000 0 50,000
01 Al&HI 50,000 0 50,000
NE35(2sel) M ZA 50,000 0 50,000
NE0S(ADIERZ) &2 SRZHIA 1,000,000 0 1,000,000
401 AIEHIZL 20HY 1,000,000 0 1,000,000
01 Al&H| 1,000,000 0 1,000,000
IS10S(ADIER2) &2 &z 1,000,000 0 1,000,000
s0HE T2 2 &2 H 4,100,000 3,150,000 950,000
SHNIS(SEY) sHELR &1 1,400,000 600,000 800,000
401 AIEHIL20HY 1,400,000 600,000 800,000
01 Al&HI 1,400,000 600,000 800,000
SIS (S EY) s0EER &2F 1,400,000 600,000 800,000
WS (AN ) sHEEZ SELE 100,000 0 100,000
401 AlEBIYL S CTHYI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
DRSS (ZAE) sHEEZ &2 100,000 0 100,000
HEIVS (M) sHELR S E 50,000 0 50,000
401 AlEHIYL S THYI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
H=0S(MH2H) sHELZ &EH 50,000 0 50,000
CERX B4 L 2 8,674,682 6,711,482 1,963,200
[ 452,000 240,000 212,000
Al 8,222,682 6,471,482 1,751,200
CERNES A 3,399,300 2,954,100 445,200
101 Q14| 128,000 70,000 58,000
04 JIZtN22 X S8 128,000 70,000 58,000
SHEEZ HM=&Y 2FY 128,000 70,000 58,000
201 LEH2 | 233,800 227,600 11,200
01 AFS2teltl 133,800 122,600 11,200
c2zelyoy ¢ 0 2,000 22,000
Jl=XIEHe =2 58,800 45,600 13,200
401 AIEHIZL20HY 2,999,000 2,623,000 376,000
01 Al&HI 2,997,000 2,622,000 375,000
EEE M Y 2 170,000 100,000 70,000
ANE11,168 =& =2 FY| 100,000 0 100,000
FI05% =234l 30,000 0 30,000
FA2055 OtAE IM LD 90,000 0 90,000
SH12E(52-32) S 3 =& =& 50,000 0 50,000
CHMAIEE HX & B 20,000 0 20,000
AF721(21Z2018) =2 HHISAH 15,000 0 15,000
03 A& S CHYI 2,000 1,000 1,000
C2RXNEFSA 2,000 1,000 1,000
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S22
S22 HHIALY

C2ERA B & 2e
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
FREZ & H=SE W JHEZM ZA 280,000 200,000 80,000
401 Al HIZL 201 280,000 200,000 80,000
01 A=l 280,000 200,000 80,000
AIHX & FHES &AM 80,000 0 80,000
Sollth® =& 440,200 359,200 81,000
201 2= 150,200 146,200 4,000
01 AFS2t2ltl 150,200 146,200 4,000
SHE M) 2N (EH) Xz 55,200 51,200 4,000
405 XHAHE SHI 140,000 63,000 77,000
01 TR ESF SHI 140,000 63,000 77,000
H&&H 2 140,000 63,000 77,000
MEESINI=ES 180,000 150,000 30,000
401 Al HIZL 201 180,000 150,000 30,000
01 A=l 180,000 150,000 30,000
WERKE 100,000 70,000 30,000
AMUHEZ oIE FH| 1,391,000 1,166,000 225,000
401 AlZHIZ S 0HHI 1,391,000 1,166,000 225,000
01 AlIZHI 1,390,000 1,165,000 225,000
AZ2207S (SHEAEISR) QIEFH| A AL 10,000 0 10,000
FW216S(22) AUEFH AAIEN 15,000 0 15,000
SUH7E(H1-4) ASFHHIBA 50,000 0 50,000
SU3S(Z2-33) o1& L AHA HUISA 150,000 0 150,000
CERNES AMH(BEX) 980,000 480,000 500,000
S 400,000 240,000 160,000
Al 580,000 240,000 340,000
401 AIEHIZL R OHYI 980,000 480,000 500,000
== 400,000 240,000 160,000
Al 580,000 240,000 340,000
01 A&l 980,000 480,000 500,000
HELEMZ SIM W2 EXI(EX) 500,000 0 500,000
= 160,000 0 160,000
Al 340,000 0 340,000
wWXE A 1,550,000 1,200,000 350,000
401 AlEHIZ S 0HbI 1,550,000 1,200,000 350,000
01 AlZH| 1,550,000 1,200,000 350,000
HEZXINZ 2l uiE EXISA 1,490,000 1,200,000 290,000
SHtE SIMWRE X1 AAIEH 60,000 0 60,000
SO Z=E(SHIEX) 52,000 0 52,000
= 52,000 0 52,000
405 AtatsE = 52,000 0 52,000
S 52,000 0 52,000
01 ML ESHSHI 52,000 0 52,000
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2A: &2
Hu: CRIHIAIY 25
ol SRR 24 U e (el &
S - B - SRA(B) - HIRAY - BES ol &rey JE-R DS
Aot =X (MEEH 2e) 52,000 0 52,000
= 52,000 0 52,000
SHHZEC] =2 £XI 200,000 0 200,000
401 Al HIZL S 0HYI 200,000 0 200,000
01 Al&H| 200,000 0 200,000
SHHZHel 2J1HLH £X 200,000 0 200,000
AMIREEZ ol Zhl 555,000 135,000 420,000
wnEEY LM NE 555,000 135,000 420,000
401 AlEHIZ S 0HbI 555,000 135,000 420,000
01 AlZH| 555,000 135,000 420,000
ANEZSHNE 2SAIEE ot 3284 350,000 0 350,000
ANESHEE 1,38AI42 ot 183 70,000 0 70,000
SADHE 16,991,517 7,720,000 9,271,517
SAAHSEZ2E 16,991,517 7,720,000 9,211,517
HES~-=HS2 S2IHESAHAISEI) 2,705,000 1,200,000 1,505,000
401 AlZHIZ S 0HbI 2,705,000 1,200,000 1,505,000
01 AlZH| 2,700,000 1,200,000 1,500,000
HES-=ES2 S2HESA 2,700,000 1,200,000 1,500,000
03 AIZ 2 0HHI 5,000 0 5,000
HES=ES2 T2HESA 5,000 0 5,000
HE~AEH2HUHEZ7) SAAES2ME (A=) 1,000,000 0 1,000,000
401 Al HIZL S 0HYI 1,000,000 0 1,000,000
01 Al&H| 1,000,000 0 1,000,000
HE~AH2ZH(HEZ7) SAIHEEZZ e 1,000,000 0 1,000,000
es~=s2t 204 2 224 SE2elEY 410,000 0 410,000
401 Al HIZ 2018 410,000 0 410,000
02 Zeltl 410,000 0 410,000
SgHclEH 410,000 0 410,000
01EY sy ZAIHEZZ JHE 8,200,000 3,000,000 5,200,000
401 AlZHIZ SO 8,200,000 3,000,000 5,200,000
01 AlZHI 8,200,000 3,000,000 5,200,000
018 Ay TAHEZZ JHE 8,200,000 3,000,000 5,200,000
Z=H7E(E3-16) TAIHEEZ HHIAIY 86,517 0 86,517
403 AXIEHHSAH=0lH 86,517 0 86,517
02 S 2SS0t et =& 2 €A ] 86,517 0 86,517
E=HTE(E3-16) SAIHEEZE KA 86,517 0 86,517
UHE198(A3-73) TAIHEC2HE 870,000 500,000 370,000
401 Al HIZ S 0HbI 870,000 500,000 370,000
01 AlZH| 870,000 500,000 370,000
UE1985(A3-73) TAIHE=Z0HE 870,000 500,000 370,000
SHE FUEH JS=Z HEAY 300,000 0 300,000




2A E23
T SADHE
SRl TAIAEEZ2OHE EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
401 AIEHIZL 20| 300,000 0 300,000
01 Al&€HI 300,000 0 300,000
SHE = M2 OH4 300,000 0 300,000
CAHECZ =HEBEHIANY 50,000 0 50,000
402 2I”FXH=01A 50,000 0 50,000
01 QI XHZ AL E (KM THE) 50,000 0 50,000
SAHEEZ MY 50,000 0 50,000
S a2l (A2-44) SAHEEZ HESAL 300,000 0 300,000
401 AIEHIZL 20| 300,000 0 300,000
01 Al&ZHI 300,000 0 300,000
SAAEER HE 300,000 0 300,000
SHE (A1) TAIHEEZ HEZA 50,000 0 50,000
401 AIEHIYL 20| 50,000 0 50,000
01 Al&ZHI 50,000 0 50,000
SUHIS(A1-104) SAIHEE2 e 50,000 0 50,000
Y =S 3 74,530 68,040 6,490
=3l 74,530 68,040 6,490
Jl=&3Hl 74,530 68,040 6,490
201 Zet2] 52,000 47,000 5,000
2 s3234| 21,000 16,000 5,000
A EHIR I 7,000 2,000 5,000
405 RHaks S| 1,490 0 1,490
01 AL =S F=H 1,490 0 1,490
S\, 260,000 574 1,300 0 1,300
=yl 190 0 190
Wees(=2) 38,662 0 38,662
PSP 38,662 0 38,662
=&H| gres 38,662 0 38,662
802 gtet=JIEt 38,662 0 38,662
02 Al - EHIEESEHES 38,662 0 33,662
20208 TAIH=AIZAIE K& 38,662 0 33,662




